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How many UNESCO Heritage sites are there in India?

(A) 52 (B) 32 (C)42 (D) 22

Which country has the Iron Dome air defence system?

(A)USA (B) lsrael (C) Germany (D) India

What is the name of the rocket that launched Chandrayan 37

(A)LVM 3 (B) GSLV MKII (C) PSLV-XL (D) None of shove

On Oct 9, 2022, which village was declared as the first round the clock solar powered village
in India?

(A} Mandali (B) Modhera (C) Matarasan (D) None of the above

Justice DY Chandrachud is

(A)48™ CIi (B) 49 CJ1 (C) 50" 1 (D) 51 CJI

Where is world's tallest Nataraja statue situated?

(A) Pragati Maidan  (B) Bharat Mandapam (C) Rae-Bareli (D) None

When is World Asthma Day observed?

(A) 7 May (B) 8" May (C) 9" May (D) 10™ May

Which of the following is not matching in the group?

(A) Amrita Sher-Gil (B) S.H. Raza

(C) M.F. Hussain (D) S.P. Balasubramanyam

Which of the following countries of Southeast Asia, India shares a maritime boundary?
(A) Indonesia (B) Malaysia (C) Singapore (D) Vietnam
‘Chandipur-on-sea’ is situated in which among of the following States?

(A) Odisha (B) Andhra Pradesh (C) West Bengal (D) Tamilnadu
Which of the following has India’s first Smart Tribal Village been inaugurated?

(A) Gujrat (B) Tamilnadu (C) Jammu & Kashmir (D) Chattisgarh

What 15 the common name of Calcium Sulphate Hemihydrate?
{A) Bleaching Powder {B) Sloaked lime (C) Plaster of Paris (D) Detergent

British scientist J) Thomson, was awarded Nobel Prize in Physics in 1906 for discovery of

{A) Electron (B) Proton {C) Neutron (D) Radioactivity
Which of these is NOT an allotropic form of carbon?

{A) Diamond (B) Graphite (C) Fullerene (D) None of these
Which of the following group of elements contain the noble gas?

{A) S-block (B) P-block (C) D-block (D) F-block
What is the pH of human blood?

(A) 8.2 (B) 7.4 (C) 6.5 (D) 7

Who among the following established the ‘Mahila Seva mandal’ and ‘Native female school'
in Pune?

(A) Aruna Asaf Ali (B) Jhalkar Bai

(C) Savitnbai Phule (D) Sarla Devi Chaudharni

(1)
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The ‘doctrine of proportionality” is applied by the Judiciary to test:

(A) The reasonable balance berween laws and government actions.

(B) Validity of a Constitution Amendment Act.

(C) Encroachment by the central government in the legislative jurisdiction of sistes,
(D) Validity of the speaker’s decision an the anti-defection laws,

The Jataka tales, a collection of Buddhist fables, originated in which Indian Language?

(A) Hindi (B) Urdu (C) Pali (D) Bengali
The autobiography ntled “wings of fire” belongs 1o

{(A) Mahatma Gandhi (B) Rabindranath Tagure

(C) Jawaharlal Nehra (D} A.P.J. Abdul Kalam

Name the woman medical officer who got deployed at Siachen, the world's highest
battlefield, marking a significant stride towards gender inclusivity in India's armed forces is
{A) Captain Payal Chabbra (B} Captain Geetika Kaul

(C) Captain Beena Tiwari (D) None of these

Which among the tollowing is not a carivorous plant?
(A) Pitcher plant (B) Venus fly rap  (C) Waterwheel plant (D} Marsh mallow

*Best Long Documentary Award® at the South Asian Film Festival of Montreal 2023 won
by:

(A} Gujrat (B) Gauri (C) Scam (D) Bharat Mata Ki
Gandhi Peace Prize award was instituied by Government of India in

(A} 2005 (B} 2000 (C) 1998 (D) 1995

Who received ‘Lifetime Achievement Award® at Filmfare Awards 20247

(A) Dharmendra (B) David Dhawan

(C) Karan Johar (D) Siddharath Roy Kapur

Which institution announced special awards (o artisis above 75 years of age?

{A) Sangeet Natak Akademi {B) Lalit Kala Akademi

(C) Sahitya Kala Akademi (D) ICCR

India announced a USD 250 million line of credit o country for modernization of its
agricultural sector and to enhance bilateral ties in areas of defence, trade, health care.

(A) Kenya (B) Tanzania (C) South Africa (D) Uganda
The process by which ammonia is converted into nitrate is:

(A) Nitrogen-fixation (B) Ammonification

(C) Denitrification (D) Nitrification

Hair 1s mainly used for which of the following

(A) Defence (B) Coloration (C) Insulation (D) Sensation
The origin of Lassa and ]_il:u;rla is

(A) Humans (B) Fruit bats (C) Primates (D) Pigeons

()
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Japan hosted  G7 Summit in 2023,
(A) 49 (B)48" (C)47™ (D) 46"

two cities jointly secured the cleanest city title at the Swachh Survekshan Awards
2023, with one of them winning the accolade for the seventh time:

(A) Varanasi and Surat (B) Kerela and Indore

(C) Indore and Varanasi {D} Indore and Surat

The Kashi Tamil Sangaman 2023 was inaugurated on 17-12-2023 at:

(A) Varanasi (B} Coimbatore (C) Mathura {D) None of these

What is the name of the joint military exercise conducted between Indian and US Army
Special Forces?
(A) Garula Shield  (B) Vajra Prahar (C) Surya Talwar (D) Shakt

The term “Acid” as defined under Explanation 1 of Section 326 B of IPC 1860 Includes:

Any substance which is:-

(A) Acidic in nature

(B) Of corrosive character

(C)1s of burning in nature and capable of causing bodily injury leading to scar or
disfigurement or temporary or permanent disability

(D) All of above

Which of the following statements regarding abetment under Indian Penal Code is correct?

(A) Abetment of an offence requires the act to be committed by the abettor directly,

(B) Abetment may involve instigation, engagement in conspiracy, or intentional aid to
commil an offence.

(C) Abetment is not considered an offence under Indian Penal Code.

(D) Abetment can only oceur if the person abetted has the same guilty intention or knowledge
as the abefior.

Under Indian Penal Code, the unlawful assembly consist of how many persons?
(A) Two or more (B) Three or more () Four or more {D} Five or more

15 no longer a criminal offence as supreme court scraps section 497 of Indian
Penal Code, | 860,

(A) Dacoity (B) Adultery (C) Bribery (D) Petty theft
The headquarter of United Nations is situated in

(A) Paris (B) The Hague

(C) New York (D) More than one of the above

The most recent state to join United Nations Organisation is which was recognized as an
independent nation in 2011
{A) Sweden (B) South Sudan (C) Spain (D) Sri Lanka

(3)
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In 2006, was changed and renamed as Human Rights Council

(A) Humanitarian Council (B) UN Commission on Human Rights

(C) Bumanitarian Commission (D) Human Rights Commission

In which vear did the UN. General Assembly adopt the resolution called ‘Uniting for Peace
Resolution’?

(A) 1951 (B) 1950 () 1968 (D) 1967

How many Articles and Chapters are there in the Charter of United Nations Organisation in
total?

(A) 110 Articles and 20 Chapters (B) 111 Articles and 19 Chaplers

(C) 115 Articles and 25 Chapters (D} 114 Articles and 28 Chapters

According to the theory of *social utilitarianism’ as propounded by Thering :

(4) Greatest number of people should get preatest pleasure.

(B) The essential body of legal rules is always based upon the social “facts” of law,

(C) A balance is 10 be struck between the competing interests in soCiety.

(D) Law is a means to social ends.

"The spinit of common law™ is a significant work of*

(A) Montesquien (B) Dicey {C) Austin (D) Roscoe Pound
Which school of juris is concerned with “positus”

(A) Sociological (B) Analytical {C) Historical (D) Realist school
Who wrote the book “law and moder mind™?

(A) Gray (B) Holmes (C) Jerome Frank (D) Llewellyn

Under section 6(c) of Hindu Minority and Guardianship Act, the natural guardian of a
married minor girl is

(A) Father (B) Mother (C) Husband (D) None of these

One person is said to be an agnate of another

(A) Two are related by blood or adoption wholly through males

(B) Two are related by blood or adoption but not wholly through males

{C) Two are related by blood or adoption but wholly through females
(D) Nome of above

A marriage may be solemnized between any two Hindus, if:

(A) Neither party has a spouse living at the time of marriage.

(B) The bridegroom has completed the age of 21 vears and the bride, the age of 18 years at
the time of marriage.

(C) The parties are not sapindas of each other. unless the custom or usage governing each of
them permits of a marriage between the two.

(D) All of the above.

An adoption can be made by

(A) A Hindu Male (B) A Hindu Female

(C) Both (A) and (B) (D) Only (A) and not (B)
(4)
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Panjab & Haryana High Court quashed Harvana's 75% Private Job reservation law, declaring
___Act unconstittional.

(A) The Employee’s State Insurance Act, | 948

(B) SC reservation Act, 1976

{C) The Haryana State Employment of Local Candidates Act, 2020

(D)) None of the above

The Sabarimala Temple case dealt with the entry of women aged:
(A) Below 10 years  (B) 10-18 vears {C) 18-30 years (D) 10-50 years

Who among the following Vice-Presidents in India resigned from his office 10 contest the
elections of President?

(A) Fakhruddin Ali Ahmed {B) V.V. Giri

{C) R. Venkataraman {D) None of these

Exchange of enclaves between India and Bangladesh was executed through amendment;
(A) 100* (B)101* (C)102™ (D) 99"

The procedure for amendment of Indian constitution has been borrowed from:

(A) Constitution of France (B) Constitution of USA

(C) Constitution of Germany (D) Constitution of South Africa
Fundamental duties inserted in the Constitution of India on the recommendations of*
(A) Swaran Singh Committee (B) Nehru Committee

(C) Mandal Committee (D) Gadgill Committee

The Constitution (fifty-ninth) Amendment Act was made in the vear of:

(A) 1987 (B) 1986 (C) 1988 (D) 1985

Which of the following Articles in the constitution of India contains the expression ‘mother
tongue’?

(A) Article 350 (B) Article 350 A (C) Article 351 A (D) Article 360

Which amendment of Indian Comsttution provides for the establishment of National
Commission for Scheduled Castes and Scheduled Tribes?

(A) 90° (B) 89" (€)91* (D) 88"

Al for Good Global Summit, 2023 was held in Geneva from:

(A) July 6-7 (B) July 1-4 (C) July 7-10 (D) July 10-13
Which country hosted ASEAN countries conference on Traditional Medicines?

(A) Thailand (B) India (C) Sri Lanka (D) Myanmar

Which country hosted the Sustainable Development Goals (SDGs) Summit in Sept.20237
(A) New Delhi (B) New York (C) Paris (D) Nairobi

In a certain code, RAT 18 written as 12 and RAN as 6, then RAG is written in the same code
a5

(A) 6 (B} 7 (C) 8 (D)9

(5)
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A is the son of C; C and Q are sisters; Z is the mother of Q and P is the son of Z. Which of
the following statements is true?

(A) P and A are cousins {B) P is the matemal uncle of A

(C) Q is the maternal grandfather of A (D) C and P are sisters

I RAMON is written as 12345 and DINESH as 675849, then HAMAM will be written as:
(A) 92233 (B) 92323 (C}93322 (D} 93232

Consider the following relationship among members of g family of six persons A B,C,D,E.T:
{A) The number of males cquals that of females,

(B) A & E are sons of F.

(C) D is the mother of two, one boy & one girl.

(D) B is the son of A.

(E) There is only one married couple in the family at present.

Which one the following inferences can be drawn from the above?

(A) A, B & C are all females (B} A is husband of D

(C) E & F are children of D (D) D is the daughter of F

A boy asked Shruti what is her relation to Aman? To which she said, “Aman is the only
brother of my son-in-law ‘s wife.,” What is the relation between Shruti and Aman?

(A) Mother and Son (B) Father and Son

(C) Aunt and Nephew (D) None of these

What is the new award instituted to honour scientists in India?

(A) PM Vigyan Puraskar (B) Rashtriva Vigvan Puraskar

(C) Bharat Vigyan Puraskar (D) Deen Dayal Vigyan Puraskar
Who is called the *father of Green Revolution’ in India?

(A} Verghese Kurian (B) MS Swaminathan

(C) Dhyan Chand (D} Vikram Sarabhai

Jon Fosse who won the 2023 Nobel Prize in Literature, is from which country?
(A) USA (B) Germany (C) Norway (D) Australia

A is the sister of B whose father is D. If the wife of D is E whose only son C has 2 sisters.
Then identify how is B related to E?

(A) Mother (B) Sister (C) Son (D) Daughter

Who formed Swaraj Party?

(A) Udham Singh  (B) Bhagat Singh  (C) C.R. Dass (D) Lala Lajpat Rai
Which State is earlier known as ‘Magadha’?

(A) Panjab (B) Utiar Pradesh (C) Himachal Pradesh (D) Bihar

“The mound of the dead” is the local name of

(A) Harappan Civilization (B) Mohenjo-Daro

(C) Sumerian Civilization (D) None of these

(6)
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What is the life span of RBC in human body?

(A) 120 days

(B) 12 days

Find the antonym for ‘Ubiquitous’

(A) Scarce

{B) Abundant

(C) 10 days

{C) Pervasive

Identify the sentence with the correct use of the modal verb ‘can’
{A) She cans play piano
(C) They can’t make it 1o the meeting

(B) He can to swim

(LL.B-A-24)

(D) 20 days

(D) Limited

(D) 1 can travels 1o the world

Identify the antonym for the word ‘Generous’

(A) Selfish

{B) Gracious

(C) Benevolent

(¥ Altruistic

The principle that when Act was not done at the desire of the promisor and hence no
consideration was laid down in:
{A) Abdul Aziz v. Masum Ali
{C) Tweedle v. Atkinson

‘Moses v. Macferlan is a case relating 10
(A) Theory of unjust enrichment

{C) Test of agency

WVoidable contract is one

(A) Which is lawful
(B) Which is invalid

(C) Which is valid if it is not avoided by the party entitled to do so

(B) Dution v, Poole

(D) Durga Prasad v. Baldeo

(B) The right of lien

(D) Doctrine of frustration

(D) Which is unlawful

When the agreement is caused by coercion, fraud or misrepresentation the agreement is
(A) Illegal (B) Unenforceable  (C) Void (D) Voidable

One who can use both hands:

{A) Ambiven (B) Ambidextrous  (C) Martinel (D) Introvert
Which one of the following is a correct sentence?

{A) Ram is more tall than Sham (B) Ram is not more tall than Sham

(C) Ram is taller than Sham (D) Ram is taller to Sham

Choose the comrect synonym of Germinate

(A) Decay

(B) Breed

(C) Produce

Choose the comrect plural form of underlined word:
The nucleus of atoms consists of protons and neutrons

(A) Nucleuses

(B) Nuclei

{C) Nucleous

Complete the blank with the right proposition.
Rajnish has not slept vesterday

(A) Through

(B) By

(C) Since

(D) Sprout

(D) None of these

(D) On

Choose the option that contains the right proposition to complete the sentence:
him when he came home late.

His mother shouted
(A) On

(B) Over

(7)

(C) For

(D) At
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Choose the correct meaning of the idiom used in a sentence:
He is feeling a bit under the weather

(A) Not able to do something as well as before

(B) Feeling slightly ill

{C) To loose control

{D) None of the above

Choose the correct meaning of the below mentioned idiom:

Queer the pitch

(A) Postpone something for later (B) Ruin someone’s plans‘mood
(C) Spoil a plan (D) Nonc of these

Choose the correct meaning of the idiom used in a sentence:

Break a leg in your exam today

(A) Very calm and composed (B) Focus closely so

{C) In good health (D) Good Juck

Substitute one word for study of languages:

(A) Philology (B) Anthropology  (C) Lithography (D} Biology
Fair comment is regarded as a defence for the tort of:

(A) Nuisance (B) Abuse of legal procedure
{C) Defamation (D) None of these

Which of the following is not an exception to Rylands v, Fletcher

(A) Act of God (B) Act of third party

(C) Plaintiff"s own default (D) Absolute Privilege

The rule of Absolute Liability is laid down in:

(A) M.C. Mehta v, Union of India (B) Donoghue v. Stevenson

(C) Wilkinson v. Downtown (D) None of the above

“Tort is a civil wrong for which the remedy is @ common law action for unliguidated
damages, and which is not exclusively the breach of a contract or the breach of a trust or
other merely equitable obligation.” This definition was given by

(A) Fraser {B) Winfield {C) Salmond (D) Limitation Act, 1963

Ifthere is a contract between A and B and as a result of the breach of contract by A, injury is
caused to C. *C", who is & stranger to the contract, bring an action against A, whose breach of
contract with B has also resulted in the commission of tort against C. this was laid down in
(A) Haynes v. Harwood (B) Padmavati v, Dugganaika
(C) Ushaben v. Bhagyalaxmi Chitra Mandi (D) Donoghue v. Stevenson
Volenti non fit injuria means
(A} Defence of consent (B) Act of God
(C) Private defence (D) Mistake
Tacob Mathew v. State of Punjab is & landmark case related to:
(A) Deficiency of educational services (B) Medical negligence
{C) Contributory negligence (D) Composite negligence
K==

(8)
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R @l I mew!smmc wirld {D} | can trvels to the warkd

79) | ldentify the nnlun}-m fior the word *Generous® | | Identify the antonym for the word *Generous” !
(A} | Selfish (B) | Gracious | L(A) | Selfish (B) | Gracious _J)

bl () | Benevolen: (D) | Altruistic () | Bericvolent (D) [ Altruistic ]

B0) W Fem E #= 30 swe & g © 7= Grw o fa 72 daz Tweway @ fr 3 A 3w Bov
m#mtﬂmﬁmﬁiﬁ?ﬂw LAl e 59 BE 2w A BT S
(A mﬁﬁwmmm (A) | woes wielm mor e o .
(B) | = mm [ ik
_.;c}!i'a’rm-:mqaﬁﬁq B H(C) | v@am wor efies
[©) 3w == woaw L[t

(D) | ¥ 4w Wl
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HT}—TFI'IWT_‘_J":I o R e -:‘__ ‘W wH Nedusn w8 DT 26 3
{,.-"” '-.l-_“q"q’ﬂ'lﬁ'lhi fergTa I (A) me[m
.{B] T W st (B) | 9a swEt v witma
(©) | T = (€) |57 = udhe
(D) [ From =1 firgim | [(D) | o =
82) | =3 g s o R T =ER ) |
NEEL (A) [ 5581 3 .
(B) [ W == ¥ | 1(B) |3 nawm @
(C) |3 8 8 o 731 &0 7 romm W 5% T | | (C) | 7 R TR 3 e e aen o geed foe 98
i ¢ fr & =riwr =F e 3
(D) | 5 F=r 2 (D) AR a3
IENEEE R . L AR M#mmﬂﬁ
o £ W Fmta o 2 g?i.'la'mfﬂ":"iE'iT
(A) [ 3 | (B) [ s (A) [#o-=tm | (B) [ =y ==was
I (C) | e (1) | st (C) | w== (D) | Se s
84) | One who can use both hands: : Ome who can use bath hinds:
(A) Ambiver {B) | Ambidextrous 1 L(A) | Ambivert {B} Ambidextrous
(C)  Martinet (D) | Imsovert . {{ } | Martimet (D) Introvert
85) Which vne of the following is a correct sentence” Which one of the ollowing is a correct sentence’?
{(A) | Ram is more tall than Sham | W Ram is more tall than Sham
{B] Ram is not more tall than Sham (B) | Ram is not more tall than Sham
(C) | Ram is taller than Sham (C) | Ram is taller than Sham
(D) | Ram is taller to Sham {D) Ram s taller 1o Sham _ |
| B6) | Choose the correct synonym of Germinate Choose the correct synonym of Germinate |
| Ay [ Doy (B) | Breed (A) | Decay (B) | Breed
| (C) | Produce (D) | Sprout (C) | Produce {13} | Sprow
87) Chaose the correct plural form of underlined word Choose the correct plural form of underlined word b
The nucleus of atoms consists of protons and nevtrons T'he nucleys of atoms conists of protons and neutrons
(A,} Nut:iu_lum (B) Muclei (A) \Jucfuuszs {B} Muclel
{C) | Nucleous (D) | None of these || (€) | Mucleous ! (D) | Nene of these
R8) Camplete the blank with the right proposition Caomplete the biank with the vight proposition
Rajnish has not slept yesterday Rajnish has notslept  yesterday
(A) Through (B} | By (A) | Through (B} | By
| (C) | Since (1) | On (C) | Since (D) | On
RO} Chaose the option that contains the right proposition Choose the option that comains the vigh! propasition 10
| ta comipfeie the senience; complers lhe senténce,
His mother showted kit when he cane home fue His mother shuuted him when he cume home ke,
{A) [ On (B} | Over (A) | On (B) | Over
(C) | For (D) | A | [{C) | For (D) | As
) | Choose the correct meaning of the idiom used ina | | Choose the correcl meaning of the idiom wsed i a
seienci zemtence;
He is feeling a bit under the weather, o He is fecling a bit under the weather.
(A) | Not ahle 10 do something as well us ’I:cﬁm- (A) | Netable to do something us well s before
| (B) Fecling slightly ill | (B) | Fulmg slightly ill
(C) | Tokoose control . ! | (C) | To loose control
{D) | None of the above (D} Wone of the ahove

19



[HP-LLB-(A)-24]

! *_j” If'l"w:.-t'q i cervect meani JJ, of the beliw ¢ mhvutioned | | Choose e correct e rrmrg of the Pely don werianed
| idinm ikl J
jqurlﬂti e — Mrm_elntch R
(A) P_mt_|ﬂﬂemﬂ; f'l'lr_later_ o | i’“‘l} Fuslpnnesum:qhmg for tater
_{B} Ruul:.l.:-n:mne'splans.-'mnnL % | (B) .Hum sameonc's spfam.mnod i j
(€] | Spoila plan i L(ES | Speitaplay, =~ ———
e | (1’)] \lmh.: DF!’J’I'I:EB o _]__‘ hm:: e
92) Chouse the carreet me meaning af the idiom nsed in v _T (‘hoose the correct srfemxrr:ng.rEn’frm_mEmT
senfence: semie e
Hreak a lee in EXENT luda Break a leg in your exam today
_.[|_:] ercalmand_g-wmi%:i e !qu |‘-"er}r+:a¢m and cﬁnﬁiud e ___|
{(H} | Focus closely so I j (B) | Foeus clusely 50 : : : : ——
(1) | In good health | 1{C) | In good heaith
| | (D) Goodluck L_[l}_llhundluuk e
93) mﬁ!@faﬁnami#—rmwuaﬁmﬁq !ra'-:rﬂwrtrrﬁﬁm#ami‘ﬁ
| (A) | srmre [B) [T | A [ e M
(C) | v = o ]_u]@ﬁwv ] [ s (D) TR
94) | Py e 3 s 3 e 3 e 5 o m A iy B § fmw 2 mers AR wew =5 dew
7oA.
(e B VR et e ]
(B) | =i sl a7 e - (B) | = B & geeed o]
(C) | wmt e IRGIE=D
NN GECE | [(D)[fr m s
LS IR G oo = S e—— e I T e e g ————
T & a
(A) | T w g (A) [ 8 = ]
(B) |79 7w = Bl (B) | ¥+ T = dwe
(C) | ™ = a7 Beie () mﬂerwwg ' }
L (D} |y Fasfe () Lﬂga-; witrra
%) T fir 31 P T B s Sred @ S fn @ v faw 3
(A) | 77 8 e w2y (A) | a7, uﬁ:r:ammhawaﬁaﬁw
| (B) | &g wom e | [(B) |2 mow remen =
(©) | oo mm oz (C) | feufomrs sovn @Gnege
(1) | =0 = = 717 757 | (D) | o= il e .
(97) | s o e e 3 S o S s FEee B s 3 3 W o8 Quw deapres moTe
9 A o omE w A f sk @ BE Ba o 557 9T 3, wE 7 fiew B9 Raaeen &
R R LR R R Bl T e p— Phur 7 A e @ G 7 39 e wwed vl |
bldlledob b sl o2 B [N PRt i
(A [Fm (A) =@
(B) | fmwrz | |(B) | *Ema NSRRI
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